Functional Skills 
Understanding Numbers


1
Sam is watching his weight, and counts the calorie content in his food and drink. In one week he counts 10 920 calories. 


In words this is 

A 
one thousand, nine hundred and twenty 

B 
ten thousand, nine hundred and twenty 

C 
one hundred and nine thousand and twenty 

D 
ten million, nine hundred and twenty 

2 
A student is about to begin a climbing trip to the Himalayas.  The height of one mountain is twenty-four thousand and forty-five feet. In figures this is

A 
24 045 

B 
24 450 

C 
240 045 

D 
24 000 045 

3.
A builder wins a contract to build a factory. 


The builder orders 2536 bags of cement. 


How many bags of cement is this to the nearest 10? 

A 
2500 

B 
2530 

C 
2540 

D 
2600 

4. 
Forty-three thousand three hundred and nine people attend a concert. In figures this is

A 
43309 

B 
433009 

C 
4300309 

D 
43000309 

5. 
A new film attracts 925 400 viewers at the box office. 


The number of viewers written in words is 

A 
ninety-two thousand five hundred and forty 

B 
nine hundred and twenty-five thousand, four hundred 

C 
nine hundred and twenty thousand, five hundred and forty 

D 
nine million twenty-five thousand, four hundred 

Questions 6 and 7 are about a car race.

6 
Over a two year period, two hundred arid forty-nine thousand six hundred and sixty people visited a car race. 


In figures this number is

A 
24 966 

B 
249 660 

C 
240 9660 

D 
249 0660 

7
The total of ticket sales for one year was £240 427.


What is this amount rounded to the nearest hundred pounds?

A 
£240 000 

B 
£240 400 

C 
£240 430 

D 
£240 500 

8
The total worldwide annual ticket sales for a show is £1 243 060. 


The amount written in words is 

A
one hundred and twenty-four thousand three hundred and six pounds 

B
one hundred and twenty-four thousand three hundred and sixty pounds 

C
one million two hundred and forty-three thousand and sixty pounds 

D
twelve million four hundred and thirty thousand and sixty pounds 

9 
The price of a carton of mixed fudge is £3.95. 


The shop assistant sells 42 cartons in a day.


The closest estimate of the amount of money, in pounds, from these sales is 

A 
3 × 40 

B 
3 × 50 

C 
4 × 40 

D 
4 × 50 

10 
The population of a county in 1985 was 500 604. 


In words this is 

A 
five thousand, six hundred and four 

B
fifty thousand, six hundred and four 

C 
five hundred thousand, six hundred and four 

D 
five hundred and six thousand and four 

11 
The manager of a clothing shop is checking the records.


The takings for last month were thirteen thousand and sixty-five pounds. 


The takings for last month were 

A 
£1 365

B 
£13 065

C 
£130 065

D 
£1 300 065

12 
A woman buys a tin of paint costing £16.30 and three paintbrushes at £2.70 each.


Which of the following is the best estimate of the total cost? 

A 
£16 + 3 × £2 = £22

B 
£16 + 3 × £3 = £25 

C 
£17 + 3 × £2 = £23

D 
£17 + 3 × £3 = £26

Questions 13 & 14 are about publishing and selling a magazine. 

13
Production costs are £0.6475 for each magazine. 


Rounded to the nearest penny this is 

A 
6Op 

B 
64p 

C 
65p 

D 
70p

14
Total sales for a six-month period were 6 349 magazines. 


To the nearest thousand this is 

A 
6 000 

B 
6 300 

C 
6 350 

D 
7 000 

15 
A woman looks at two cars. The diagram shows the reading on the mileage counter of a second-hand car. 

5 0 3 0 6

What is this number in words? 

A 
five thousand and thirty-six 

B 
five thousand, three hundred and six 

C 
fifty thousand and thirty-six 

D 
fifty thousand, three hundred and six 

Questions 16 and 17 are about a car journey.

16 
The diagram shows the mileage readings of a car at the beginning and end of the journey.

	0 5 7 3 2
	Beginning
	0 5 8 9 6 2
	End


What is the reading at the beginning of the journey to the nearest thousand miles? 

A 
58 000

B 
58 700

C 
59 000

D 
60 000

17
What was the distance travelled? 

A 
194 miles

B 
206 miles

C 
214 miles

D 
294 miles

Questions 18 & 19 are about a woman’s electricity bills for one year. 

The electricity company charges for each three-month period. 

18 
The electricity company estimates that the woman will use 1 387 units of electricity in the first three months.


To the nearest 10 units this is 

A 
1 300

B 
1 380

C 
1 390

D 
1 400

19 
The reading on the electricity meter shows forty-eight thousand and sixty-two units. 


She writes this number on the meter reading card. 


In figures this is

A
48 62

B 
40 862

C 
48 062

D 
48 620

20
In one year a travel agency deals with thirteen thousand, four hundred and five customers. 


Thirteen thousand, four hundred arid five in figures is

A 
13 405

B 
130 405

C 
134 005

D 
13 000 405

21 
A tank holds 454.3 litres of cooling fluid.

What is 454.3 litres to the nearest 10 litres?

A
450 litres

B
454 litres

C
455 litres

D
460 litres

22 
The diagram shows the mileage on a car mileometer.

	0
	5
	0
	6
	0
	2


In words this is

A
five thousand and sixty-two

B
five thousand, six hundred and two

C
fifty thousand, six hundred and two

D
five hundred and six thousand and two

23 
Elvira weighs 62.6 kilograms.


What is this weight to the nearest kilogram?

A
60kg

B
62kg

C
63kg

D
70kg

24
The salary for a job found on a website is £16 580


In words this is

A
sixteen thousand and fifty-eight pounds

B
sixteen thousand, five hundred and eight pounds

C
sixteen thousand, five hundred and eighty pounds

D
one hundred and sixty-five thousand and eighty pounds

25
A woman buys fuel before leaving on a journey.


She buys 24 litres of petrol costing 75.9p a litre.

Which calculation gives the best estimate of the total cost?

A
20 × 70

B
20 × 80

C
30 × 70

D
30 × 80

Questions 26 & 27 are about a shop selling CDs, DVDs and books.

26 
The takings in April are £24732

To the nearest thousand pounds this is

A
£20 000

B
£24 000

C
£25 000

D
£30 000

27
Last year’s total takings were three hundred and eighty thousand pounds.

In figures this is

A
38 000

B
380 000

C
3 080 000

D
3 800 000
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